[ 2] Pannun

STrucTUREDGROUND Kits for Cabinet Grounding

INSTALLATION INSTRUCTIONS T-PMPI-270-PC

© PANDUIT Corp. 2006

Grounding
Strip

Cage
Grounding
Strip

Strip Clip

. 2222222222 - -

Front to Back
Jumper

2222224444——

Universal
Grounding
Sticker

19" Universal
Ground Bar

Cleaning Pad

2 22 - - - = - = - - =
2 22 - - - = - = - - =
ESD Sticker
% 8 - - - - - - -/ - -1 -
12-24 Screw
8 - - 8 - -8 - - - - -
12-24 HDW
R
\
I\,, 16 - 28 16 — 24 16 - 24 24 - 8
12-24 HDW

M6 Screw

12 12| - ]\I\

10-32 Screw

10-32 HDW

10-32 HDW

SRR |

M5 Screw

Cage Nut Stud
HDW

<M
—{=|- S

Thru-Hole
HDW

8 12 18

AntiOX

All torque values are based on a maximum Equipment Rail coating of .003 inches.

16

16

13

16

16

16

16

16

For Technical Support:

www.panduit.com/resources/install_maintain.asp

Page 1 of 6

Rev.AB



INSTALLATION INSTRUCTIONS T-PMPI-270-PC

CGK630U, CGK630UA, CGR630U, CGR630UA, CGIxxxU, CGIxXXUA, RGSxxX, RGSXxXXA

@

CGK630U, UA
CGR630U, UA
CGJIxxxU, UA

e 6 @'e o o'e o e

6-8 Ibf-ft
(8-11 Nem)

(2)

CGK630U, UA
CGR630U, UA
CGIxxxU, UA

6-8 Ibf-ft
(8-11 Nem)

%@%”606”666
~=

CGK630U, UA
RGSxxxx, A

c'e ¢ e'c o o

(4x)

@ (I
CGK630U, UA| | O © (
RGSxxxx, A liQ §°
LJ O 0 )
O ¢
Q)
I =
of w»
Q. |le
) o
Al .
LQ (

6-8 Ibf-ft
(8-11 Nem)

e Q6 0 ¢le o <

CGR630U, UA

S

6-8 Ibf-ft
(8-11 Nem)

Page 2 of 6 Rev. AB



INSTALLATION INSTRUCTIONS T-PMPI-270-PC

)

CGK630U, UA
RGSxxxx, A

6-8 Ibf-ft
(8-11 Nem)

CGR630U, UA

6-8 Ibf-ft
(8-11 Nem)

eQ’e ¢ olo o

»

©)

CGK630U, UA

6-8 Ibf-ft
(8-11 Nem)

CGR630U, UA

e®e ¢ ole o

0

CGK630U, UA

O© © ©0C © ®O © ©

Page 3 of 6

Rev. AB



INSTALLATION INSTRUCTIONS T-PMPI-270-PC

CGK630UB, CGR630UB, CGJIXxxxUB, CGJxxXUC, RGSxxxxC, THSK4, THSK8

@ (2)

CGK630UB ( CGK630UB
CGR630UB CGR630UB
CGJIxxxUB, UC CGJIxxxUB, UC
12.5 Ibf-ft
(17.0 Nem)

0
0

12

0

0

0

)

/EEE”EEE”EE

0

®

-

s
sf

@@OOO@@@/

3x
9-10 Ibf-ft @
/ (12-13 Nem)

6-8 Ibf-ft
( (8-11 Nem)

' 5T &

===l =R=
90 O 00 0 ]

6-8 Ibf-ft
(8-11 Nem)

6-8 Ibf-ft

(8-11 Nem) @

|sl=l=~]sl= =l =l= =]=
@”E 0 ol

Page 4 of 6 Rev. AB



INSTALLATION INSTRUCTIONS T-PMPI-270-PC

g o .
U {lg]
U |lo
0 Iy
{ Antiox }
%? :
6-8 Ibf-ft\ 10
(8-11 Ne Q

@ (86-181 Iof-f )
“11 Nem \@

)
m \

() -
I
5
*
6-8 Ibf-ft P “
(8-11 Nem) 6-8 Ibf-ft
@ (8-11 Nem)

-
.
.
-
g

\

O
ol
/ // . j
10 , 0
- ® o
U 35 N 0
N
=
M~

Page 5 of 6 Rev. AB



INSTALLATION INSTRUCTIONS T-PMPI1-270-PC

» e

<
NN
R

Sesavieseaviasiasigpesasea

E-mail
cs@panduit.com

Fax
(815)485-5839

For Instructions in Local Languages

DUIT

www.panduit.com

and Technical Support:

http://www.panduit.com/resources/install_maintain.asp

Rev. AB

Page 6 of 6



